Parts Breakdown

Model PM-IT-0040 13440




Parts Breakdown

Model PM-IT-0040 13440




Parts Breakdown

Model PM-IT-0040 13440

Item No.
37967
77780
31248

14564

77782
14565
16280
77784

10901

77843
AD367
77835
39487
AD368
AD369
77814
40030
77789
AN226
AD370
AN225
77845
77792

Description

Worm Complete with Propeller for 13440
Sleeve for 13440

Die Retaining Ring for 13440

Rotating Cutter Sup. Arm for 13440

Fixed Support for 13440

Cutter Motor with Plug for 13440
Cutter Blade Single for 13440
Cutter Blade 3-Blade for 13440

Rotating Mixer Support with Bearing and
Shaft for 13440

Bearing 6206 2RS for 13440
Mobile Mixer Pin for 13440
Fixed Support for 13440
Mixer for 13440

Tank for 13440

Shaft for 13440

Bushing for 13440

Tank Lid Cover for 13440
Upper Wheel for 13440
Lower Wheel for 13440
Bearing 6206 2RS for 13440
Upper Pinion 3/8” Z=18 for 13440
Bearing 6200 2RS for 13440
Upper Mixer Shaft for 13440

Position

w

®w N o o

Item No.

77793
77794
77849

45190

7797
77798
77799
77800

77801

77855
77803
AD399
77804
77805
77806
AD372
15432
AD373
77809
AD374
AD375
AD376
AD377

Description

Reducer Pulley for 13440
Reducer for 13440

Chain Tightener Roller for 13440

Double Chain 06B-2 3/8” 55 S+J for
13440

Bearing 6008 2RS for 13440
Bearing 51308 for 13440

Mixer Lower Shaft for 13440
Lower Pinion Z=23 3/8” for 13440

Rear Support Plate for 13440

Belt SPZ 1202 for 13440

Motor Pulley for 13440

Motor Main 208/60/3 for 13440
Motor Base for 13440

Sieve Support Rods for 13440
Fan for 13440

Plug for 13440

Cutter Protection for 13440

Ring IS 78/3.3/0.82 Inox for 13440
Fattener for 13440

Spiral for 13440

Upper Right Bath Bracket for 13440
Upper Left Bath Bracket for 13440
Protection for 13440

Position

23
24
25

26

27
28
29
30

31

32
33
34
35
36
37
38
39
40
4
)
43
44
45

Item No.

AD378
77878
AD379

AD380

AD381
AD382
77876
AD383

AD384

AD385
AD386
AD387
AD388
AD389
AD390
AD391
AD392
AD393
AD394
AD395
AD396
AD397
AD398

Description
Bath for 13440

Bath Lid 2 for 13440
Protection for 13440

Protection for 13440

Range for 13440

Reducer for 13440

Motor 3ph 208V 60Hz 0,55kW for 13440
Mixer Shaft for 13440

Mixer for 13440

Bearing for 13440

Mobile Mixer Pin for 13440
Mobile Mixer Support for 13440
Fixed Mixer Support for 13440
Migrate Support for 13440
Motor for 13440

Pin for 13440

Washer for 13440

Unibal Head for 13440

Range for 13440

Motor Support for 13440
Angular for 13440

Threaded Rod for 13440
Motor Base Rod for 13440

Position

46
47
48

49

50
51
52
53

54

55
56
57
58
59
60
61
62
63
64
65
66
67
68



